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1. __, must be caused by a mixture of a high correlation and one or more of the other 
elements being inappropriate
Multicollinearity
2. The __ of a statistical model describes how well it fits a set of observations
goodness of fitâ€ƒ
3. Measures of ___ typically summarize the discrepancy between observed values and 
the values expected under the model in questi
central tendency
4. The ___ analysis is an extension of simple regression analysis
multiple regression
5. The estimation of each parameter in a regression equation consumes __ degree of 
freedom in the sample
One
6. __ correlation does not necessarily lead to poor estimates
High
7. Discriminate between the effects of the explanatory variables and making allowance 
for the fact that they may be ___ is enabled in multiple regression analysis
Correlated
8. In models with a greater number of explanatory variables, __ may be caused by an 
approximately linear relationship among them
Multicollinearity
9. Linear Probability Model means __
is a special case of a binary regression model
10. The __ tests on the regression coefficients are performed in the same way as for 
simple regression analys
t
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